
x 2 Rm
<latexit sha1_base64="hzBFSMztaLrOWi+3XN7WrgMMQXY="></latexit><latexit sha1_base64="hzBFSMztaLrOWi+3XN7WrgMMQXY="></latexit><latexit sha1_base64="hzBFSMztaLrOWi+3XN7WrgMMQXY="></latexit><latexit sha1_base64="hzBFSMztaLrOWi+3XN7WrgMMQXY="></latexit>

h(x) 2 RH

<latexit sha1_base64="l2JLcJfSOPhISGO8ODUhKCVmio4="></latexit><latexit sha1_base64="l2JLcJfSOPhISGO8ODUhKCVmio4="></latexit><latexit sha1_base64="l2JLcJfSOPhISGO8ODUhKCVmio4="></latexit><latexit sha1_base64="l2JLcJfSOPhISGO8ODUhKCVmio4="></latexit>

W1 2 RH⇥m

b1 2 RH
<latexit sha1_base64="qkErw/pYaN/LJGDZC+jXCdyPvBA="></latexit><latexit sha1_base64="qkErw/pYaN/LJGDZC+jXCdyPvBA="></latexit><latexit sha1_base64="qkErw/pYaN/LJGDZC+jXCdyPvBA="></latexit><latexit sha1_base64="qkErw/pYaN/LJGDZC+jXCdyPvBA="></latexit>

Matrix 
Multiply

y(h(x)) 2 R|Y|
<latexit sha1_base64="dFp8gpBnfJ7dVL1gDohKUFy5Lps="></latexit><latexit sha1_base64="dFp8gpBnfJ7dVL1gDohKUFy5Lps="></latexit><latexit sha1_base64="dFp8gpBnfJ7dVL1gDohKUFy5Lps="></latexit><latexit sha1_base64="dFp8gpBnfJ7dVL1gDohKUFy5Lps="></latexit>

Matrix 
Multiply

W2 2 R|Y|⇥H

b2 2 R|Y|
<latexit sha1_base64="tcjlpA2SaDAI0EC1tKEjDh+3O38="></latexit><latexit sha1_base64="tcjlpA2SaDAI0EC1tKEjDh+3O38="></latexit><latexit sha1_base64="tcjlpA2SaDAI0EC1tKEjDh+3O38="></latexit><latexit sha1_base64="tcjlpA2SaDAI0EC1tKEjDh+3O38="></latexit>



x 2 Rm
<latexit sha1_base64="hzBFSMztaLrOWi+3XN7WrgMMQXY="></latexit><latexit sha1_base64="hzBFSMztaLrOWi+3XN7WrgMMQXY="></latexit><latexit sha1_base64="hzBFSMztaLrOWi+3XN7WrgMMQXY="></latexit><latexit sha1_base64="hzBFSMztaLrOWi+3XN7WrgMMQXY="></latexit>

h(x) 2 RH

<latexit sha1_base64="l2JLcJfSOPhISGO8ODUhKCVmio4="></latexit><latexit sha1_base64="l2JLcJfSOPhISGO8ODUhKCVmio4="></latexit><latexit sha1_base64="l2JLcJfSOPhISGO8ODUhKCVmio4="></latexit><latexit sha1_base64="l2JLcJfSOPhISGO8ODUhKCVmio4="></latexit>

W1 2 RH⇥m

b1 2 RH
<latexit sha1_base64="qkErw/pYaN/LJGDZC+jXCdyPvBA="></latexit><latexit sha1_base64="qkErw/pYaN/LJGDZC+jXCdyPvBA="></latexit><latexit sha1_base64="qkErw/pYaN/LJGDZC+jXCdyPvBA="></latexit><latexit sha1_base64="qkErw/pYaN/LJGDZC+jXCdyPvBA="></latexit>

Matrix 
Multiply

y(h(x)) 2 R|Y|
<latexit sha1_base64="dFp8gpBnfJ7dVL1gDohKUFy5Lps="></latexit><latexit sha1_base64="dFp8gpBnfJ7dVL1gDohKUFy5Lps="></latexit><latexit sha1_base64="dFp8gpBnfJ7dVL1gDohKUFy5Lps="></latexit><latexit sha1_base64="dFp8gpBnfJ7dVL1gDohKUFy5Lps="></latexit>

Matrix 
Multiply

yt 2 R|Y|
<latexit sha1_base64="ZU5Suv29rUkLSPrU52sSV9M5Adk="></latexit><latexit sha1_base64="ZU5Suv29rUkLSPrU52sSV9M5Adk="></latexit><latexit sha1_base64="ZU5Suv29rUkLSPrU52sSV9M5Adk="></latexit><latexit sha1_base64="ZU5Suv29rUkLSPrU52sSV9M5Adk="></latexit>

L(y, yt)
<latexit sha1_base64="zWQK7cDGGEmM2ex+GIdaYB5ejEU="></latexit><latexit sha1_base64="zWQK7cDGGEmM2ex+GIdaYB5ejEU="></latexit><latexit sha1_base64="zWQK7cDGGEmM2ex+GIdaYB5ejEU="></latexit><latexit sha1_base64="zWQK7cDGGEmM2ex+GIdaYB5ejEU="></latexit>

W2 2 R|Y|⇥H

b2 2 R|Y|
<latexit sha1_base64="tcjlpA2SaDAI0EC1tKEjDh+3O38="></latexit><latexit sha1_base64="tcjlpA2SaDAI0EC1tKEjDh+3O38="></latexit><latexit sha1_base64="tcjlpA2SaDAI0EC1tKEjDh+3O38="></latexit><latexit sha1_base64="tcjlpA2SaDAI0EC1tKEjDh+3O38="></latexit>



x 2 Rm
<latexit sha1_base64="hzBFSMztaLrOWi+3XN7WrgMMQXY="></latexit><latexit sha1_base64="hzBFSMztaLrOWi+3XN7WrgMMQXY="></latexit><latexit sha1_base64="hzBFSMztaLrOWi+3XN7WrgMMQXY="></latexit><latexit sha1_base64="hzBFSMztaLrOWi+3XN7WrgMMQXY="></latexit>

h(x) 2 RH

<latexit sha1_base64="l2JLcJfSOPhISGO8ODUhKCVmio4="></latexit><latexit sha1_base64="l2JLcJfSOPhISGO8ODUhKCVmio4="></latexit><latexit sha1_base64="l2JLcJfSOPhISGO8ODUhKCVmio4="></latexit><latexit sha1_base64="l2JLcJfSOPhISGO8ODUhKCVmio4="></latexit>

W1 2 RH⇥m

b1 2 RH
<latexit sha1_base64="qkErw/pYaN/LJGDZC+jXCdyPvBA="></latexit><latexit sha1_base64="qkErw/pYaN/LJGDZC+jXCdyPvBA="></latexit><latexit sha1_base64="qkErw/pYaN/LJGDZC+jXCdyPvBA="></latexit><latexit sha1_base64="qkErw/pYaN/LJGDZC+jXCdyPvBA="></latexit>

Matrix 
Multiply

y(h(x)) 2 R|Y|
<latexit sha1_base64="dFp8gpBnfJ7dVL1gDohKUFy5Lps="></latexit><latexit sha1_base64="dFp8gpBnfJ7dVL1gDohKUFy5Lps="></latexit><latexit sha1_base64="dFp8gpBnfJ7dVL1gDohKUFy5Lps="></latexit><latexit sha1_base64="dFp8gpBnfJ7dVL1gDohKUFy5Lps="></latexit>

Matrix 
Multiply

yt 2 R|Y|
<latexit sha1_base64="ZU5Suv29rUkLSPrU52sSV9M5Adk="></latexit><latexit sha1_base64="ZU5Suv29rUkLSPrU52sSV9M5Adk="></latexit><latexit sha1_base64="ZU5Suv29rUkLSPrU52sSV9M5Adk="></latexit><latexit sha1_base64="ZU5Suv29rUkLSPrU52sSV9M5Adk="></latexit>

L(y, yt)
<latexit sha1_base64="zWQK7cDGGEmM2ex+GIdaYB5ejEU="></latexit><latexit sha1_base64="zWQK7cDGGEmM2ex+GIdaYB5ejEU="></latexit><latexit sha1_base64="zWQK7cDGGEmM2ex+GIdaYB5ejEU="></latexit><latexit sha1_base64="zWQK7cDGGEmM2ex+GIdaYB5ejEU="></latexit>

@L(y, yt)
@y

<latexit sha1_base64="ZfkmWk2D8t9GFSB8FRbBoHdlhww="></latexit><latexit sha1_base64="ZfkmWk2D8t9GFSB8FRbBoHdlhww="></latexit><latexit sha1_base64="ZfkmWk2D8t9GFSB8FRbBoHdlhww="></latexit><latexit sha1_base64="ZfkmWk2D8t9GFSB8FRbBoHdlhww="></latexit>

@L
@b2

<latexit sha1_base64="lM5mnqDyARPlv9i80iv70zGYNRM="></latexit><latexit sha1_base64="lM5mnqDyARPlv9i80iv70zGYNRM="></latexit><latexit sha1_base64="lM5mnqDyARPlv9i80iv70zGYNRM="></latexit><latexit sha1_base64="lM5mnqDyARPlv9i80iv70zGYNRM="></latexit>

@L
@W2

<latexit sha1_base64="RbFGhgfljn2Mo1yEo2vTobzx6jQ="></latexit><latexit sha1_base64="RbFGhgfljn2Mo1yEo2vTobzx6jQ="></latexit><latexit sha1_base64="RbFGhgfljn2Mo1yEo2vTobzx6jQ="></latexit><latexit sha1_base64="RbFGhgfljn2Mo1yEo2vTobzx6jQ="></latexit>

@L
@W1

<latexit sha1_base64="LdwskUwu8t+SQlMpGV7DVi3OjQs="></latexit><latexit sha1_base64="LdwskUwu8t+SQlMpGV7DVi3OjQs="></latexit><latexit sha1_base64="LdwskUwu8t+SQlMpGV7DVi3OjQs="></latexit><latexit sha1_base64="LdwskUwu8t+SQlMpGV7DVi3OjQs="></latexit>

@L
@b1

<latexit sha1_base64="6UqsRTPIDHEiWaMBTRZ1HT2d99Y="></latexit><latexit sha1_base64="6UqsRTPIDHEiWaMBTRZ1HT2d99Y="></latexit><latexit sha1_base64="6UqsRTPIDHEiWaMBTRZ1HT2d99Y="></latexit><latexit sha1_base64="6UqsRTPIDHEiWaMBTRZ1HT2d99Y="></latexit>

W2 2 R|Y|⇥H

b2 2 R|Y|
<latexit sha1_base64="tcjlpA2SaDAI0EC1tKEjDh+3O38="></latexit><latexit sha1_base64="tcjlpA2SaDAI0EC1tKEjDh+3O38="></latexit><latexit sha1_base64="tcjlpA2SaDAI0EC1tKEjDh+3O38="></latexit><latexit sha1_base64="tcjlpA2SaDAI0EC1tKEjDh+3O38="></latexit>


